(Quick Maths - 26.221 ] | =4
o Which of these numbers is a multiple of x =
107 o70x = 2,800 é/
100 1,240 232 © 367 + = 1,230 0
o Halfway between -10 and 10 =
o 20p = £1 © 3/8 of =24
0450 + =1.000 o 1X multiplied by LX =
60= Explain
SHlizones 01,270 - 1,110 = Which method and
why?
o Complete -
Challenge Investigation
1 9 4 5 A rectangle has a

perimeter of 24cm.

o The difference between the ones and thousands
digitis 5.

o Sam's number is EVEN and rounds to 10,000.

o What is his number?

How many different
rectangles can you
find?

© Can you think of your own problem?

{Flashback 4
B§ cahookk b

)] Subfrac+ 7 from 3

\

)

] 2)  Whatis g more than "87' ?

— 3)  Draw a shape with an area less than 10 squares.

4)  Use <, > or = to compare.
Yidometres () 3,000 m + 2,000 m
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“Complete this as quickly as you can (verbally or
—fhroggfp w|riﬁng I GOWNL: . ]




[Quick Review - Division

A 1.20+10 = 2.21+7= 3.35+7/=
4. 100 +10= 5. +3=21
Is it possible for £1to be sharedequally =333 8688858
between 100 people? JIIIIITITY

. : A A A A A A A A A
How does this picture explain it?

PP9P9PPPPPPW®

A A A B A A B B A

Can £2 be shared equally between 100 200000600068

people? A & A R A R B R N

B A A A A A A R B A |
How much would each person receive? POOOOOOPOO

2009000 POPPO

- How many division calculations
can you make from the digits - 15, 3, 5 and
452

@:rac’rions of Amounts J

What is '/; of 18?
We often see this type of question.
It is easy if we have a set of squares or objects.

'/ iﬁﬁiiﬁ

S 666665
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@:racﬁons of Amounts J

l/whole!
If '/5 of 18 =6, then?/;0f 18 =12 and 3/ 0f 18 = 18
X XX IXX]
A XXIYY
A XXX XX
1/3 1/3 1/3
[Try these! j
What is 1/4 of 207 What is 2/, of 20?
What is 3/4 of 20? What is 4/, of 20?

Fractions of Amounts

Aot A

"I think that only A

q. ® shows3of 12." L
-

4

0 %%

.......... shows %of 12. | know this
because




{Maln Task

221

~ Now complete '26.2.21 - Tasks

Maze|s) . I|Exfro guidance is

%;iven If you need it.

(A.B,C + Challenge

{ Challenges

.

S

Which method?

_ Which bar model represents the question correctly?
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3 —
IOf 20

T
This is % of a set of beanbags.

OO
SO0

¢ 009

How many were in the whole set?




